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1 WHY IS THERE A NEED FOR A MORE HALVING JOINTS PASTE / DRAW AN IMAGE OF THE
VARIETY OF HALVING JOINTS? PRACTICAL APPLICATION YOU

DOVETAIL HOUSING DESCRIBED BELOW
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EXPLAIN YOUR ANSWER PRODUCE A SKETCH THAT REPRESENTS APPLICATION OF THE

ONE OF THE JOINTS ABOVE JOINT YOU SELECTED IN 3
(SEE ABOVE FOR AN EXAMPLE) (You may need to search the internet)

" L
2 \ WHICH JOINT IS THE STRONGEST? 3 4 DESCRIBE ONE PRACTICAL
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ESSENTIAL LINK: http://technologystudent.com/joints/crsh2.htm I



https://www.facebook.com/groups/254963448192823/
https://www.facebook.com/groups/254963448192823/
https://www.facebook.com/groups/254963448192823/
https://www.facebook.com/groups/254963448192823/
https://www.facebook.com/groups/254963448192823/
https://www.facebook.com/groups/254963448192823/
http://www.technologystudent.com
http://www.technologystudent.com
http://www.technologystudent.com
https://www.facebook.com/groups/254963448192823/
http://www.technologystudent.com
http://technologystudent.com/joints/crsh2.htm

	Page 1

